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Review for final exam M 1310: 
 

1. Find the slope of the line that passes through the points (((( ))))6,4  

and (((( ))))4,2 −−−−−−−− . 

 
 
 
 
2. Find the x and y intercepts 02y8x2 ====++++++++ . 

 
 
 
 
 

3.  Solve for x:    
5

4
x

3

2 ====  

 
 
 

 
 

4. Solve for x:  (((( )))) (((( )))) 42x
3

1
1x

2

1 ====−−−−−−−−++++  

 
 

 
 
 

5. The perimeter of a rectangle is 70 m.  If the length 4 times its 

width. Find the length of this rectangle. 
 
 
 
 
 
 
6. Find three consecutive integers whose sum is 336. 
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7.   Solve by factoring:   03x5x2 2 ====++++++++   
 

 
 
 
 

 
 

8. Solve by factoring:  36x2 ++++  
 
 
 
 
       

     9.   Simplify:   (((( )))) (((( ))))i11i2 −−−−−−−−−−−−  

 
 
 
 
 
        
 

10.  Simplify:  (((( ))))i32i3 −−−−  

 
 
 

 
 

11. Simplify:  
i4

i32

++++
++++
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12. Simplify: 
i3

1

−−−−
 

 
 
 
 
 

13.  Solve for x:  
(((( ))))

2
3

2x3
2 <<<<++++≤≤≤≤−−−−  

 
 
 
 

 
 
 
 

       14.  Solve of x:   75x25 ====++++++++  

 
 
 
 
 
 

  15. Solve for x: 61x2 −−−−≤≤≤≤−−−−−−−−  

 
 
 
 

 
 
 

16.     Solve for x:  54x3 <<<<−−−−  
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17.  Find the domain:  
1x

2x
)x(f

−−−−
++++====  

 
 
 
 
 
 

   18.  Find the domain:  9x3)x(f ++++====  

 
 
 
 
 
 
 

19.   Calculate )2(f if 2x3x2)x(f 2 −−−−++++−−−−==== . 

 
 
 
 
 

20.  Calculate )4(f if  








<<<<−−−−
====
<<<<−−−−

====
x2x

2x3

2x1x

)x(f  

 
 
 

 
21.    S is inversely proportional to the square of t. If S = 6 and  
         t = 2, find k. 
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   22.   What reflections and transformations take x)x(f ==== to the 

function 1x3)x(f −−−−−−−−====  

 
 
 
 
 
 
 
 

23.  Find the function form the graph. 

                      
 
 
 

24.   Find the vertex;  64x14x)x(f 2 ++++−−−−====  

 
 
 
 

 
 
 

25.     Find the vertex:  5x8x2)x(f 2 ++++−−−−−−−−====  
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26. Given 3x2)x(f ++++==== and x2x)x(g 2 ++++====  

 
a. Find  (((( )))) )x(gf o  

 
 
 
 
b.  Find  (((( )))) )1(fg −−−−o  

 
 
 
 
 

27.  Find the inverse of 
1x

1
)x(f

−−−−
====  

 
 

 
 
 
 

 
 
 

 
28.   The function which corresponds to the graph. 
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      29  Find the quotient and remainder 
1x3x

21x28x13x2
2

23

++++++++

++++++++++++
 

 

 
 
 
 

 
 
 
 

 
 

30. Find the quotient and the remainder  
1x

16x14x2 2

−−−−
−−−−++++−−−−

 

 
 
 
 
 
 

 
 
 
31. Find the zeros of a polynomial by factoring: 

        16x8x)x(f 2 ++++−−−−====  

 
 
 
 
 
 

32.   Given x45)x(f −−−−====  

 
a. Asymptote? 

 
 

b. Range? 
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33.   What is the transformation of the key point (1, 0):  

4)2x(log6 −−−−−−−−  

 
 

 

34.     Simplify:  






====
32

2

1
log)x(f  

 

 
 
 

35.      Solve:  0)1x(log4 ====−−−−  

 
 
 

 
 
 

36.      Solve:  2xln ====  

 
 
 
 
 
 
 

37.     Solve: 10log)1xlog()2xlog( ====−−−−++++++++  

 
 

 
 


